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39- My shoes are not clean. | have to get someone.................. them.
1) to clean 2) clean
3) cleaned 4) cleaning
40-1 o your letter if you had given it to me yesterday.

1) have corrected
3) would correct
41- Amir never sleepslate,...............
1) but Reza doesn’t
3) or Reza doesn’t

2) was correcting
4) would have corrected

2) nor does Reza
4) so does Reza

42- He sayshe noticed you ...........cocceuene along the street but he
didn’t see you reach the bus stop.

1) walked 2) to wak

3) walking 4) walks

43- Scientists have setup experiments to study. human responses
to thelack of sleep. Response means .............

1) need 2) nature
3) purpose 4) reaction

44-“Why dO YOU ....ccovvvvrunnnene your children?” to fit them for life.
1) problem 2) manage
3) invent 4) habit

45-Which word isdifferent from the othersAccording to their stress?
1) punish 2) encorage
3) educate 4) register

46- “Would you like some cake?” “A slice of it is sufficient”,
sufficient means...................

1) efficient 2) enough

3) suitable 4) agreeable
47- That kind of cloth doesn’t ................ water. It isgood for rain
coats.

1) absorb 2) charge

3) replace 4) involve
48-The oo, for the university entrance exams has
started.

1) reception 2) election

3) location 4) registeration
49- You should not risk marrying if you arenot ................. sure
about it.

1) absolutely 2) regularly

3) commonly 4) equally
50- [ YOU e your opinion,do the some for other
people’s opinions.

1) wish 2) appoint

3) respect 4) memorize
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